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Part I Listening Comprehension (20 minutes)
Section A
Directions In this section, you will hear 10 short conversations. Al the end of each convqr'sqtianf a
question will be asked aboul what was said. The conversation and the question will be spoken
only once. Afler each question there will be a pause. During the pause, you must read the
Jfour choices marked A), B), C) and D), and decide which is the best answer. Then
mark the corresponding letter on the Answer Sheel with a single line through the centre.
Example You will hear .
You will read .
A) At the office.
B) In the waiting room.
C) At the airport.
D) In a restaurant.
Sample Answer [#] [B] {C] [D]
From the conversation we know that the two were falking about some work they. have o fin-
ish in the eveniny.‘ This is most likely to have taken place at the office. Theréfore, A)
“At the office” is the best answer. Yor should choose answer [A7] on the Answer Sheet
and mark it with a single line through the centre. :
1. A) At the theater. C) At the railway station.
B) At the cafeteria. D) At the restaurant.
2. A) 12:15. . CY 1 00,
B) 12: 30. D) 1: 10.
3. A) One pound. C) Three pounds.
B) Two pounds. D) Four pounds. -
4. A) He is a car salesman. C) He is a bus driver.
B) He is an insurance salesman. D) He is a taxi driver.
5. A) He didn’t like to travel. C) He needed money.
B) He liked to work. D) He liked to work on a computer.
6. A) Cold. C) Hot. «
B) Warm. D) Mild.
7. A) Two times. C) Five times.

Test One
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B) Three times. D) Eight times.
8. A) To the cafeteria. C) To a restaurant.
B) To a grocery store. D) To the college.
9. A) He can correct his mistake later.
B) He answered the question correctly.
C) He can’t change his answer now.

D) He didn’t answer the question on the test.

10. A) An agent. C) A jet plane.
B) A ship. D) A bomber.
Section B

Directions; In this section, you will hear 3 shori passages. At the end of each passage, you will hear
some questiors. Both the passage and the gquestions will be spoken only once. After you
hear a question, you must choose the best answer from the four chawes marked A), B),
C) and D). Then mark the corresponding lelter on the Answer Sheel with a single line
through the centre.

Passage 1
" Questions 11 to 13 are based on the passage you have just heard.

11. A) It is the most beautiful city in the United States.
B) It is the biggest city in the U. S.
C) It is the most crowded city in the U. S.
D) It is the busiest city in the U. S.
12. A) A house with pleasant rooms to look at.
B) A house with better facilities.
) A house with a large garden.
D) A house with a beautiful view.
13. A) San Francisco—the Most Beautiful City in the World.
B) How to Look for a Hoyse.
(C) People in San Francisco.
D) A House with a View.

Passage 2
Questions 14 to 17 are based on the passage you have just heard.

14. A) In a small town beside the Mississippi River.
B) In a small town near the Hudson River.
C) In San Francisco.
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D) In a Mexican city.
15. A) 15. C) 19.

B) 17. D) 21.
16. A) A term used by businessmen.

B) A term used by riverboat men.

C) A term used in the U. S. Air Force.

D) A term used in hospitals.
17. A) Stories about steamboat pilots.

B) Stories about young boys.

-.C) Stories about adults.
D) Stories about his neighbours.

Passage 3
Questions 18 to 20 are based on the passage you have just heard.

18. A) A big cake. C) A cake on the end of his nose.
B) A house full of food. D) A plate.
19. A) A beautiful girl. C) A little boy.
B) An old woman. ) D) An old man.
20. A) A big cake. . C) A plate.
B) A house full of food. D) Nothing.
Part I Vocabulary and Structure (20 minutes)

Directions, There are 30 incomplete sentences in this part. For eack sentence there are four choices
marked A), B), C) and D). Choose the ONE answer that best compleles the sentence.
Then mark the corresponding letler on the Answer Sheet with a single line through the cen-

tre.

21. As the clouds drifted away an even higher peak became to the climbers.
A) apparent ‘'C) obvious
B) visible D) plain
22. A beam of light produced by a laser can carry a large number of communication signals

A) at times C) at one time

B) in time D) at the time
23. He was knocked down by a car and badly o

A) injured C) ruined

B) damaged D) harmed



24. This device differs from that one

A) in its structure C) in structure

B) in the structure D) in structures
25. We couldn’ t help at what he said.

A) laugh . C) to laugh

B) laughed D) laughing
26. He said that it was so; he was mistaken,

A) therefore C) consequently

B) moreover D) however

27. Establishment of a(n) social insurance system is essential for deepening economic re-

forms.
A) sound C) undisturbed
B) durable D) accurate

28. Most students work hard. Henry, it is otherwise.

A) In case of C) In case
B) In the case of D) In any case
29. almost two hours to do such a complicated calculation.
A) It spent me C) 1 spent
B) It toock me D) I took
30. The culture and customs of America are more like of England than of any other
country. ’ '
A) what C) which
B) that D) those
31. The bus company taised the fare 509 .
A) for _ C) by
B) at D) to

32. The biggest computer company in Silicon Valley has hundreds of people during the
last few months.

A) declined C) detached

B) dismissed ‘ D) dispersed
33. I suggest out on a picnic this Sunday.

A) us going C) to go

B) we are going D) our going

4. he realized that he had been wrong.
A’ It was not until last night that
B) While it was last night when
C) No sooner it was last night when
D) This was last night that
35. Helen said in her letter that she would appreciate __ from you some time.



36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

A) to hear . : : C) hearing

B) having heard D) to hearing

“What's made Ruth so upset?” ¢ three tickets to the theatre. ”

A) Lost : C) Losing

B) Because of losing . D) Since she lost

The assignment for this week is to write about your life in our university. . -

A) a two-hundred-word composition
B) a-two-hundred-words composition -
C) a two-hundreds-words composition
D) a two-hundreds-word composition

1 had hoped my brother me as soon as possible.
A) would write C) to write
B) wrote * D) writing

on the Board of Directors, her opinion carries weight.
A) Although unimportant she is
B) As she is unimportant
C) Because she is unimportant
D) Unimportant as she is
Evidence came up specific speech sounds are recognized by babies as young as 6
months old.

.A) what .o C) which
B) that D) whose
we have finished the book we shall start doing some exercises. -
A) Because of v : C) Since that
B) Now that . - D) For v e
Our teacher recommended that we the oral literature of the American Indian.
A) did not ignore C) would not ignore
B) not ignore D) mustn’t ignore .
A man escaped from the prison last night. It was a-long time .. »....  the guards discovered
what had happened.
A) before : ' €) since -
B) until ' o D) when ..

Some who were famous in their own times-would find . ‘difficult to achieve success to-
day. . g
A) that C)them Yo, oo

B) this : D) it G

today, he would get there by Monday. .
A) Would he leave : C) Were he to leave _ ,
B) If he was leaving : © - D) If he leaves .- - - NP N



46. Mr Smith the work, with a little more knowledge about physics and a better assis-

tant.
A) could have done C) had done
B) would do D) has done
47. It is important that a university student at least one foreign language.
A) learns C) ought to learn
B) must learn D) learn

48. Only in the jungles, where high humidity encourages many diseases, to grow.
A) the potato fails '
B) fails the potato
C) does the potato fail
D) the potato will fail
49. The decision » the next problem was how to make a good plan.

A) has been made C) having been made
B) was made D) been made
50. If he hadn’t spoken to the salesgirl beforehand, he might have spent more money than he had,
?
A) mightn’t he C) didn’t he
B) had he ) D) could he
Part 1 ) Reading Comprehension (35 minutes)

Directions, There are 4 passages in this part. Each passage is followed by some questions or unfin-

' ished statements. For each of them there are four choices marked A), BY, C) and D).
You should decide on the best choice and mark the corresponding letter on the Answer Sheet
with @ single line through the centre.

Passage 1
Questions 51 to §5 are based on the following passage;

Life in the Paleolithic Age (IH7A#$8F4L) was dangerous and uncertain at best. Survival de-
pended on the success of the hunt, but the hunt often brought sudden and violent death. On the oth-
er hand, the peoples of the Paleolithic Age were responsible for some striking accomplishments.
Most obvious is the use of the stone implements that gave the period its name. The ability to make
and use tools gave Paleolithic peoples the means to change their environment. They could compete
with larger and stronger animals and could hunt animals faster and more fierce than themselves.
The demands of the hunt sharpened their wits. The most striking accomplishments of Paleolithic
peoples were intellectual. The development of the human brain made possible thought and symbolic
logic. An invisible world opened up to them. Unlike animals, whose behavior is the result of in-
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stinct (EL‘#), Paleolithic peoples used reason to govern their actions. Thought and language per-
mitted the experience of the old to be passed on to the young.

Paleolithic peoples produced the first art. They decorated the walls of their caves with paintings
of animals and scenes of the hunt. They also began' to fashion clay models of women and of ani-
mals. These first examples of art illustrate the way in which early men and women communicated to
others their experience of the past and hope for the future. Many of the paintings-are found deep in
the caves, in areas not easily accessible. These areas were probably places of religious services and
other ceremonies, where young men were taken when they joined the ranks of the hunters. They
were also places of magic. The animals drawn on the walls were either those hunted for food or
those feared as predators (R PI&4). Many are shown wounded by arrows. The early artists may
have been expressing the hope that the hunt would be successful and game plentiful. - By drawing the
animals as realistically as possible the artists and hunters may have hoped to gain power over them.

51. The main idea of this passage is that .
A) life in the Paleolithic Age was always very pleasant
B) Paleolithic peoples did some remarkable things .
C) Paleolithic peoples were very much like us
D) humans have always known how to use tools
52. 1t is believed that the most striking accomplishments of Paleolithic peoples were . - ..

A) intellectual C) physical
B) religious D) artistic

53. It can be inferred that the Paleolithic peoples’ ability to reason and use symbolic logic enabled
them to

A) discover caves decorated with paintings
B) imagine things that they had not actually seen - : ‘ '
C) find good-tasting foods far away in the mountains
D) remain undiscovered until modern times ,
54. Which of the following statements is best supported by the: passage?
A) Caves were part of early religious ceremonies.
B) Paleolithic peoples invented the bow and arrow. : & . i
C) Cave paintings were designed to record great hunts.
D) Paleolithic hunters were smarter than other people.
55. The author contrasts the hardship of life in Paleolithic times with T
A) the beauty of paintings found in caves .
B) the stone tools which made Paleolithic peoples more cruel
C) the first art produced by Paleolithic peoples
D) the remarkable progress Paleolithic peoples made ’ caes



Passage 2
Questions 56 to 80 are based on the following passage:

A gang is paid for nine hours, including & one-hour meal break. But nobody wants to eat in
the tunnel. The air is stale. (Neither the water pumps nor the ventilating (G )X ) system work prop-
erly, but they are patched up when the word comes round that there is going to be an official inspec-
tion). If the mole (BXH #| # 1) is drilling, a grey powder, fine as talc(¥ ), lines skin, hair,
nose, throat, lungs. The alternative of walking back to the pit bottom and climbing up the ladders
to the surface would take too much time and effort. So the gangs work eight hours without a serious
stop. Anyway they have an interest in forcing the pace.

At the wages offered, indigenous labour refuses this work. Migrants(f§ &) undertake it in
order to earn and save the maximum amount of money in the shottest time. Officially payments for
extra output are illegal. Yet there are ways round this. And so the interests of migrant and contrac-
tor are made —apparently -—to be the same. The faster a man works, or the worse the conditions so
that he is entitled to a small compensatory supplement, the more he can save. For the contractor,
the quicker the job is done, the greater the profit margin. An underground worker in the tunnels can
earn between 300 and £ 350 per month. ‘

About a quarter of his wages goes in tax, social security, and trade union dues. (80 percent of
the men belong to the union). If he lives austerely (f5j ¥M#l1) , he can still save or send home £150
& month. With these savings he imagines he is transforming his own life and his family’s. Working
in the tunnel, each man is more or less locked in his personal vision of a different future. This adds
to the isolation caused by language. It can lead, sometimes, to a kind of negligence—of the present
and of the self.

56. 1t can be concluded from the last paragraph that ~ .
A) the workers speak the same language
B) the workers speak different languages
C) all the workers come from one country
D) all the workers join trade unions

57. The phrase “indigenous labour” in line 1, para. 2, can best be expressed as
A) hard labour C) native workers
B) physical labour . D) foreign workers

58. The expression “forcing the pace” in the last sentence of paragraph 1 .can best be replaced by
which of the following?
A) working hard C) keeping the speed
B) increasing the speed D) running fast

59. Which of the following is NOT true according to the second paragraph?
A) No workers receive any extra payment.
B) The workers and the contractors have more or less the same interests.
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C) A worker can earn more when working under worse conditions.
D) One of the major reasons for these migrant workers to work in the tunnels is to save as
much money as possible.
60. According to the first paragraph, all of the following are true EXCEPT that .
A) the working condition in the tunnels is extremely poor
B) the pay is based on working hours
C) the workers don’t have their meal until they finish their work

D) the water pumps and the ventilating system never work

Passage 3
Questions 81 to 65 are based on the following passage .

Person-to-person services will claim everyone else. Many of these jobs will not require much
skill, as is true of their forerunnets today. Among the fastest growing in recent years; custodians
(4R® A) and security guards, restaurant and retail workers, day-care providers. Secretaties and
clerks will be as numerous as now, but they’li spend more of their time behind and around electronic
machines(imported from Asia) and have fancier titles, such as “paratechnical assistant” and “exec-
utive paralegal operations manager. *

Teachers will be needed (we’ll be losing more than a third of our entire corps of elementary-
and high-school teachers through retirement over the next seven years) , but don’t expect their real
pay to rise very much. In spite of years of public breast-beating about the quality of American edu-
cation, the average teacher today earns $ 28,000—only 3. 4 percent more, in constant dollars,
than he or she earned fifteen years ago. o e . ) e

Count on many jobs for the needs of Americans at play —hotel workers, recreation directors,
television and film technicians, aerobics (3§ 48 i 532 5 ) instructors(6r whatever their twenty-first
century equivalents will call themselves). But note that Americans will have less leisure time to en-
joy these pursuits. The average American's free time has been shrinking for more than fifteen
years, as women move into the work'force (and so spend more of their free time doing household
chores) and as all wage earners are forced to work harder just to maintain their standard of living.
Expect the trend to continue.

61." What is the major point discussed in the passage
A) The quality of American education. - SETe R, e
B) The change of American’s leisure time. o e
C) The possible new titles of future secretaries and cletks. - '
D) The future development of service businesses in America. =~ " °

62. What is the major difference between the Jobs of secretaries and clerks today and tomorrow?
A) The titfes for the two occupations. ’
B) The number of people working in the two occupations.



C) The time they spend in using electronic machines.
D) The amount of working hours.
63. Which of the following is NOT true of teachers and education in America?
A) The average income of teachers has not increased much over the past 15 years.
B) The public has been much concerned about the lowering of teachers’ quality.
C) One third of elementary- and high-school teachers will retire over the following seven
years.
D) The quality of American education has improved greatly over the years.
64. What does the author imply by saying “or whatever their twenty-first century equivalents will
call themselves” in lines 2 — 3, para. 3?
A) All these titles will still be used as today.
B) Many of these titles might be changed then.
C) Most of the jobs will disappear then.
D) People will not be concerned about these titles then.
65. When people use titles such as “paratechnical assistant” and “executive paralegal operations
manager”, they want to show that .
A) their jobs are more important and more professional
B) they are either technicians or managers
C) their jobs are less important and less professional

D) they hope to get higher pay

Passege 4
Questions 66 to 70 are based on the following passage .

Complaining about faulty goods or bad service is never easy. Most people dislike making a fuss
(KHK/ME). But if something you have bought is faulty or does not do what was claimed for it,
you are not asking for a favour to get it put right. It is the shopkeeper's responsibility to take the
complaint seriously and to replace or repair a faulty article or put right poor service, because he is
the person with whom you have entered into an agreement. The manufacturer may have a part to
play but that comes later.

Complaints should be made to a responsible person. Go back to the shop where you bought the
goods, taking with you any receipt you may have. Ask to see the assistant manager in a large store.
In a small store the assistant may also be the owner so you can complain direct. In a chain store ask
to see the manager. If you telephone, ask the name of the person who handies your enquiry, other-
wise you may never find out who dealt with the complaint later.

Even the bravest petson finds it difficult to stand up in a group of pecple to complain, so if you
don’t want to do it in person, write a letter. Stick to the facts and keep a copy of what you write.
At this stage you should give any receipt numbers, but you should not need to give receipts or other
papers to prove you bought the article. If you are not satisfied with the answer you get, or if you do



not get a reply, write to the managing director of the firm, shop, or organization. Be sure to keep
copies of your own letters and any you teceive.

‘If your complaint is a just one, the shopkeeper may offer to replace or repair the faulty article.
You may find this an attractive solution. In certain cases you may have the right to refuse the goods
and ask for your money back, but this is only where you have hardly used the goods and have acted
at once. Even you cannot refuse the goods you may be able to get some money back as well. And if
you have suffered some special loss, if, for example, a new washing machine tears your clothes,
you might receive money to replace them. If the shopkeeper offers you a credit note to be used to
buy goods in the same shops but you would rather have money, say so. If you accept a credit note,
remember that later you will not be able to ask for your money. If the shopkeeper refuses to give
you money, ask for advice from your Citizens’ Advice Bureau before you accept a credit note. In
some cases the shopkeeper does not have to give you your money back — if, for example, he
changes an article simply because you don’t like it or it does not fit. He does not have to take back

the goods in these circumstances.

66. The shopper may make a complaint because .
A) he dislikes causing a fuss
B) it doesn’t do what is claimed for it
C) the article bought is not up to standard
D) he was at fault in buying the article
67. When complaining in person, you should .
A) get a receipt for what you buy
B) speak to someone in authority
C) talk direct to the assistant
D) ask to see the buyer ' i
68. As a result of your letter
A) you should write to the managing director of the firm
B) you are likely to hear nothing
C) you will receive an unsatisfactory reply
D) you may have the complaint put right at once
63. You may be able to claim extra money when .
A) you have been hurt
B) you can’t find something special
C) damage has been caused by the faulty article
D) your clothes have been torn or lost
70. If you accept a credit note, you
A) can use it in another shop
B) can’t say you would have preferred the money

C) can ask for your money later



